655

MSCZ0-04
June - Examination 2019
M.Sc. (Previous) Zoology Examination
Human Cytogenetics & Development Biology
q9q BHIAHT ST THRVT U4 fAprarena Sita+ fder

Paper - MSCZ0-04
Time : 3 Hours ] [ Max. Marks :- 80

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: Ig ued ux ‘o', ‘¥’ IR ‘W fiF @Wuel § A g1 ud
Gus & MGATTAR AT & IR QIS

Section - A 8XxX2=16
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer Ty IR Ue)
fAder: Tt weAl & IR SISTI 31T 310 TR DI WATTHAR Th 916G,
T Iy AT ferpad 30 orsgl H uRAfg Hifviel e ueT
2 3fpl Bl gl
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1) (i) Define Emboly
THaTet ol gRATRYT BTl
(i) What is Kleinfelter's syndrome?
facTtheters Rirg T g2
(i) What are Deuterostomes?
SRRV T §7
(iv) Name an endonuclease enzyme.
Teh eIgfereryst USTTgH el A feTRau|
(v) Write the name of two vectors used in r-DNA technology.
r-DNA Teh-1h § Ugeh &I argent & M foaRau
(vi) Expand FISH and GISH.
FISH T GISH @1 9x1 1 fetRRau|
(vii) What is an Idiogram?
SfeammT a1 8?2
(viii) Who is known as father of Modern Embryology?

3MYgfep YOI b1 Seh feb<t gl ST & ?

Section - B 4X8=32
(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 8 marks.

Qus - §
(oTg IR 99 )
fAder: gl IR oAl & IR VI MY U7 ITR B 31ferday
200 vregf ¥ gRAfAT Hifore| U ueT 8 i T 2l

2) Explain the various stages of Gastrulation.
Bgpa Dl AR a3l BT FHEATU
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3) Enumerate the process of Apoptosis.
TASIRRT Y Ufohar T AT
4) Comment upon the process related to gene mutation.
ST IcaRRecH @t ufehar wR fewult hifsg
5) Explain
[JHLATST
(i) Incomplete Dominance
31quf g
(i) Co-dominance
RRCRIERI
6) Write short note on:
g e forRag,
(i) Cleavage
[EESA

(ii) Blastulation

PRBHIIT

7) What is dysmorphology? Explain
fSqaTRIcATST T 22 FHsTsu|
8) How dosage compensation is accomplished?
o efegfef for R foparfac et 22
9) Comment upon
feoqoft i
(i) Deletion
EEIEE]
(ii) Inversion
S hHUT
(iii) Tetrasomy

CerHT
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Section-C 2%X16=32
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
16 marks.

s - 9
(Sref TR T9d)
fArder : fogl QI Mol & ITR SIRTYI 37T 37U ITR Bl 31ferpad 500
greql H R iU UAd 99T 16 3ichi BT g
10) Explain the following.
=1 @I FHsIRYl
(i) Post fertilization events
ueg g g
(ii) Ultra structure of Sperm
SPTU] T TR
11) Explain structural and numerical chromosomal changes.
TOREAT H gIF dlel SREHS aUT AT URadHl &l FHeIgu|

12) Write notes on:
e faRau:
(i) DNA Hybridzation
DNA HehRuT
(i) Linkage
HeeTddl
13) Explain
HHLAIGU:
(i) Generac disorders
S faepR
(i) Types of Eggs
3NUEl &b UPBR
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